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Answer ALL questions.
Write your answers in the spaces provided.

1 (a) Describe two types of delegated legislation.

. J

R D O A o
P 6 6 6 3 2 A 0 2 2 0



 DONOTWRITEINTHISAREA

KK
XX

XX
XX

XX
XX

(b) Analyse the disadvantages of delegated legislation.

\

J

3

[ [ Turn over

P 6 6 6 32 A0 3 2 0

>



(c) Assess how Parliament controls delegated legislation.
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(Total for Question 1 = 20 marks)
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2 (a) Describe briefly the burden of proof required to prove guilt in a criminal case.

(b) Explain the following two criminal sanctions.

Suspended prison sentence
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(c) Assess the impact the theories of retribution, deterrence and rehabilitation have
on the sentencing of criminals.
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(Total for Question 2 = 20 marks)
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3 Solicitors and barristers are two types of lawyers in the legal profession of England
and Wales.

(a) Describe the role of a barrister.
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(c) Evaluate the advantages and disadvantages of having these two separate
legal professions.
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(Total for Question 3 = 20 marks)
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4 (a) Describe the role of the Law Commission.
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(c) Evaluate the influence of the media and pressure groups on Parliamentary
law making.
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(Total for Question 4 = 20 marks)
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5 Evaluate whether the arguments for the abolition of the jury in England and Wales
are more persuasive than those for its continued use.

LR AT ERTRR o
P 6 6 6 3 2 A 0 1 8 2 0

X X I
o T SIHEN
T RIS

S5

5558

55
5

X

-

oo




DO:NOT WRITE IN THIS AREA

19

ormm LR AT ERTIRR Y Turm over »
P 6 6 6 3 2 A 0 1 9 2 0



(Total for Question 5 = 20 marks)

TOTAL FOR PAPER = 100 MARKS
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